Auxiliary Problems for Chapter 31
1.
Craft unions differ from industrial unions because (craft, industrial) unions organize workers with a certain skill whereas (craft, industrial) unions organize workers in a particular industry.
2.
Assume the average wage is $12/hr. and the marginal wage is $10/hr. If another worker is hired, will the difference between these two numbers get bigger or smaller?
3.
If a union employer and a non-union employer, both producing shoes, operate in the same local labor market, what relative wage scale will result?
4.
Marvin’s Bicycle Shop has the following production table. The wage rate for a worker is $25 per hour. The average charge for repair work is $20 per repair.

	Quantity of labor
	# of repairs per hour
	MPP
	MRP

	0
	0
	
	

	1
	3
	
	

	2
	6
	
	

	3
	8
	
	

	4
	9
	
	

	5
	9
	
	

	6
	8
	
	



a) 
Fill in the table above.

b) 
How many workers should Marvin’s employ?

5.
Identify any trends in union membership over the past 50 years.
